
Calculus I 
Section 1.1 – Sign Test 
 

NONCALCULATOR: Solve the following inequalities using the sign test.  Write your answers in 
interval notation. 
 

1. 2 144 0x      2.  2 14 49 0x x      3. 2 25 0x        
 
 
 
 
 
 
 
 
 
  

4.  212 8 15 0x x     5. 218 3 1x x     6.  3 26 3 45 0x x x    
 
 
 
 
 
 
 
 
 
 

7. 3 9 0x x     8.  2 10 0x       9. 26 39 45x x    
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CALCULATOR:  Use your calculator to help solve the following inequalities. 
 

19. 22 5 9 0x x     20. 3 23 8 4 0x x      21. 4 24 6 1 0x x    
 
 
 
 
 
 
 

22.  25 2x x     23. cos 0x x  on [0, 2]  24. sin xx xe on [0, 2] 


